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28 B1E 201448 25H
1 HiBizEBA VS 4 BEERES
H= A=

ISR EBRESN BERES ISR

it . H5E R BRI 1t : KR R XEN

ma : SRR 7o : BREE g : ENRER i =
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 | XL @& 4H = 420 it 4H = 420

2 | ikl & 4H +1 650 [£3] 4H +1 650

3 |&HmAE| 46 | aNT | = 90 5|7 2H | +1 | 140 2
4 |wBa| F® 2s | +2 | 170 | & 3s = | -140 1
5 |gdt] & | 3NT | = | 400 | Zx | 3NT | +1 | -430 | 1

6 |&Hm| 4t 4S = | 420 | 4t 3S = | 140 7

7 |wa|l /@ | 3NT | = | -600 | % 4S = | -620] 1

8 | Xkl H® 3NT | +1 | -430 x 3NT | +1 | -430

9 |&ZFAE| = 4s | 12 | 50 | = 4s | -1 | -50
10 | WB| 7 4s | +1 | -650 | 7 4s | +2 | 680 | 1
11 | Wk & 2D | -1 | 50 | 4t | 4sx | -3 | -500 | 10
12 | &l b 3C = | 1120 | 3t 2c | 2 | 200 ]| 7
13 | wa| ® 4H = | 620 | %® 4H = | -620
14 | Wkl dt 6H = | 980 | & | 6NT | = | 990
15 |Edb| m= 4s | -3 | -300 | & 3H = | -140 4
16 | ZRAA L 1t 3C +1 130 [£3] 3C +1 130

DATUM%tit g
IMisi=pA FERERMN Z, 5 =] 27 7

HEE/ZiMS EN ETESISIPN ait 27 7
EXEEEN/ £ x4 PRRE/ RS S V.P. 15 5
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2% %2 5 201448 25H
2 SRERAFFIERRA VS 3 JEIETEIRRATFhE
H= S
IREREAIERRA Ik EFRTThE Ik EFRTThE IREREAIERRA
3t : It5fF IR : BRTRR it 1 ZER IR BIKIE
[EZEY VN~ 7 : 1R B : FMBEZR 7Y : 5KERE
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 [ XFk| 4t 4H = 420 E3] 4H = 420
2 |@mdt]l & | 3NT | +1| 630 | % | 6H | -1 | -100 | 12
3 |#&m| 46 | 20 | = | 110 | & 2s | = | 110
a |wal x| 3s | +1 | 270 | & | 25 | +1 | -140 1
5 |gdt| %= | 4s | +2 | -480 | #& | 3NT | +1 | -430 2
6 || 4t | 4s | = | 420 | 4t | 2s | +2 | 170 | 6
7 || x| as | 2 | 200 % | 3NT | -1 | 100 | 3
8 | Xkl &® 3NT | +1 | -430 x 3NT | +1 | -430
o |F@| &8 | 4s | -1 | 50 | 4t | 4s | 1 | 50
10 |we| & 6S | = |-1430] % | 4H | +1 | -650 13
11 |wx| m | 2p | 2| 50 | @ | 2D | = | 90 a4
12 || = 2s | = | 1120 | & | 3NT | +1 | 630 11
13 |wal % | 4H | = | 620 & | 3NT | -2 | 200 13
14 |wxk| 46 | 71 | 2 | 50 | & | 3NT | +4 | 520 11
15 |@dtl %= | 3H | = | 1490 & | 3H | = | -140
16 || 4t | 3c | +1 | 130 | &® | 4H | -2 | 200 2
DATUM&iit I E
IR ERFFEFIERRA JEIGEIRRATFhE v -] 21 | 57
Iy S ETA Y NS SRER/FIMBIR ait 21 | 57
B RMW/REREE BRI/ RN V.P. 2.41 | 17.59
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% 2% B4R 201448 H25H
6 REM{EEEIRA VS 8 BRI RIE
H= A=
=5 A REARIE BEAARIS =5 A
it : EXPHAT X R CIRYP N it : 5EE R EXe
U 7 AEE B BE 79 : SKTRNIE
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 5H -2 -100 1t 4H = 420 11
2 it [£3] 3NT = 600 [£3] 6NT -3 -300 14
3 panyiie] [£3] 2S -1 -50 x 3D = -110 2
4 E=] x 3S = -140 x 2S +2 -170 1
5 it x 3NT +1 -430 x 3NT +2 -460 1
6 panyiie] 1t 4S -1 -50 1t 3S = 140 5
7 PWE=] x 4S -2 200 x 4S -2 200
8 TS [ri] 4S = -420 x 3NT +1 -430
9 panyiic] [£3] 4S -1 -50 [£3] 4S -1 -50
10 [ WEB1l H* 4H +1 | -650 R 4H +1 | -650
11 |wxl s | 2p | 2| 50 | & | 2 | -1 | -50
12 | Edb [£3] 2S = 110 1t 3NT -2 -200 7
13 | WH/ x 3NT = -600 x 4H -1 100 12
14 | WF 1t 6H = 980 1t 6NT = 990
15 | Edb x 3H = -140 1t 3S = 140 7
16 | ZRFg 1t 3D +1 130 1t 5C -1 -50 5
DATUM%tit iFE
N PaERPA BRI RIS 5 30 | 35
KRXPRE] S0/ =D RS SfE/MRE Aait 30 | 35
& 2/RKTNE EREIEE V.P. 8.52 | 11.48




